oW R wuke] Golsh ¢ mSIue o] YREehe @ Aol |
m# PEETH B o) thrEehe b 4 gl Al nE g

HRAA] A L.

> E

> He: 29

|oE










4.

3——9} At AL 22 AL BF ABAL.

2 2 5
3X = =+ =
®3x5 @5 3 @,3><2
@§+5 @3x5+2
§—3><5 2




® 143 @)144 ® 145 @ 146 ® 147

2+ -—=2x8=1
3 6

1
16+§:16X8:128
16 4+ 128 = 144




ol AU

3

vt

o

14
15

webd ol 7bg 2 AL

11




1
3

— =92

7
4

©)

3
7

3= +2=

2
5

-

ul

51

whabA 1




: X
11 6

> =
63
o= _—
> 3= 121
6_(15X4>_6.(11X4>
11 "\"6 7/ 11 \6 "7
6 22
1121
6 21 63

X — = —
11 22 121




W 71271 22 em, M7} 2 em ] AERAE G54, o]

A o] Fuj7} 1% em3 @t ol B om Q1] 1B Q.

1 3 7
@ §5C1’I1 @ écm @ gcm
@ 1§cm @gcm
(30]) —(A&BA o] 21])= (3 Wr o] Yol
2
3. (2._6\ 3 (8 ¢
—1?‘<2§x?)—1?*<gx?>
_3.16_10 1630
A 77 _,Lsﬁ‘
5
= g(Cm)
wiebd A8 R oIt 2 am Ay,




|
~|]

lo
st
el
D)
re
>
e
£
rO
9
r
9
U
>
¥0,
rr
D)
re
>
i
u!
n

_L[ N o
o -

k=) .

>,

o

iy

iy

0
AL
o

0
o
o

VARV
VvV Vv
v
J vwvyy
i

0
o
o

B
§—|;|—6 l:, j=5=} ‘

o] AL
6—3/:% . 1}233316”4 [ ]kl 69 471 Sof
a Sol7to} @
[]etele 1,2, 3, 6] So1% 5= 9 .
& A5YH




